Year 6 Homework
Name: _____________________ 		Hand in: 05.02.24


Weekly: complete the maths, SPAG and reading activities.
Daily: read and practice times tables.
Arithmetic:
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[image: ]Fluency: 					Reasoning: 
[image: ]  One-minute challenge	
		
[image: ]










Reading Comprehension:
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[image: ][image: ]SPAG:						       		Spellings to learn:  
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3x40=

3% of 900

63+9= 7 [33% of 900
967 x 14 5 [197x100=
17-378= RIZErE
Write 10% as a fraction 0677 of 42
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1. Using the digits 4,8,2 and 3, write the lowest
even three-digit number.

2.Werite the number thirteen thousand, eight
hundred and seventy three in digits.

3.Write the next two numbers in this sequence:
2570, 2580, 2590,

4.Round 13.5 to the nearest whole number.
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The Visible Spectrum
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Isaac Newton, an English scientist and mathematician,
made an observation about light during a series of
investigations made in the 1660s. After experimenting
with shining light through a prism, he discovered that
‘white light was in fact composed of seven different
colours. These colours are those found in  rainbow
(red, orange, yellow, green, blue, indigo and violet)
and are called the ‘Visible Spectrum’.

Light appears white to our eyes as each colour within a
ray of light has a different wavelength and the colours
merge together. When light travels through a transparent
material, such as a prism, it refracts or bends.

As each colour wavelength is different and bends slightly
differently, the colours of the spectrum are separated.

*

1

Questions

‘What object was Isaac Newton experimenting
shining light through?

Why might someone choose to read this text?
Explain your answer.

Find and copy one word which shows that

‘something is clear or see-through.

Why do you think the author chose to put ‘Visible
‘Spectrum’ in bold?
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Missing, punctuation,

Add the missing piece of punctuation to
each sentence.

1) Marcus said “She’s here.”

2)  Later that day the post arrived.

3)  The kittens ball arrived and they,
loved it.

4)  The rahbits carrot was uneaten as
he didn’t like them.

5)  The girl, who had hrown hair
played outside.

6)  Where are yow

7)  Colin said, “That's strange ”

8)  The thieves masks were hlack.

9)  She doesnt like it.

10) 1 think James is here
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